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Instructions to Contestanis:

(8) FEBILEF 20/ - MR 10045 -

There are 20 questions in this paper and the total score is 100.

(b) BRTFHIIEEAS - RENBIMARUIR TR -

Unless otherwise stated, all numbers in this paper are in decimal system.

() TEElE  BREMNEEEAL 0 F 9999 ZEMWEHFRT - KREER LAHRERS
5 BHEEGTRSR -
Each answer must be given in the form of an integer between 0 and 9999. Follow the

instructions on the answer sheet to enter the answers. You are not required to hand in your
steps of working.

d) HLTAHEER -

The use of calculators is not allowed.

() ABHIMIET —ERLAIHSIK -

The diagrams in this paper are not necessarily drawn to scale.
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Note: Each answer must be given in the form of an integer between 0 and 9999. Where necessary,

the answer should be rounded off to the nearest integer in the above range. Read the instructions on

the answer sheet in detail.
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3 n B B A 2015 » 3K # B9/ NETHEAE -

If the sum of » prime numbers is 2015, find the smallest possible value of n.

REFRA (" +13)(x-2) BREL x -6 FFHUEREKL -
Find the remainder when the polynomial {x* +13)(x—2) is divided by x—6.
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3. B nBAEE . HEEFEHA/NR 10 0 3K o 9B/ 6EE -

If n is a three-digit even number whose sum of digits is not less than 10, find the

minimum possible value of n.

A G £ -2015x+1=0 (B ARER -
Find the greatest real root to the equation x° —2015x+1=0.

5. FEMHEEF 0-0-0-1-2-3 B WLRHRS DEAGER 10 BBEREY
{8k 7

How many six-digit numbers not divisible by 10 can be formed by permuting the
digits 0, 0, 0, 1, 2, 37

6. = sin(180°—x°)=Zcos®x°—1 » EHHF 0<x<360 » K x P aI§EEZ R -

If sin(180°—x°)=Zcos* x°—1 where 0<x<360, find the sum of all possible

values of x.

7. BEAEEGIEREH] 785 ?

How many four-digit positive integers are divisible by 7?

(343)
(3 marks)

(343)
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(343
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(4 marks)

(453)
(4 marks)
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AP REBNRER3 ST 7 - FEsAN—EANAE Kx -

A triangle has side lengths 3, 5 and 7. If its largest interior angle is x°, find x.

HZDE IEREBRIE 7 2 TS 60 2

How many four-digit positive integers have product of digits 60?7

—E=APNETRERER 10 - SEERE 40 RENEFRIIRAARE
-
A ftriangle has two sides with length 10. If its area is 40, what is its greatest

possible perimeter?

- B n IR - H log(n—30)+log(50-n) <2 - JHE > n HLDENFRKITTHE

i ?

If n is a positive integer such that log{n —30)+1og(50—=#) < 2, how many different

possible values of » are there?

#5E AABC » Hih Z4CB=90° | LABC =14° -
2k O 1638 BC k- DL 0 B ByPHEEL AC #3Y)

R C - 5 ABBYIR D - 24363 40 SUPERIAH 4

E> CF BAERNER > gk <EDF=x° >k x 1 D
/{[__é:o

Given AABC where LACB =90° and £ABC =14°,
Point O lies on side BC. The semi-circle with centre
O is tangent to AC at C, and is tangent to AB at D.
Suppose segment AO meets the semi-circle at £ and
CF is the diameter of the semi-circle. Let
ZEDF = x°. Find the value of .

R n SWALERE - HRASBFITHESE - it » NRAIETEHH - IS EE
rom o 25 m A n BERARLARER | A n FEPEANRTIAREE ?
Let n be a two-digit positive integer whose both digits are nonzero. By switching

the two digits of n, one obtains the positive integer m. Given that the H.C.¥. of m

and » is equal to 1, how many different possible values of » are there?
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(5 marks)
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{5 marks}
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(5 marks)

(553)

(653)

(6 marks)
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15.

16.

h N

fHEZ D f1 E - 35 BC=+901 » BD=1 |

AD=16 » kK CEFRE -

The circle with diameter BC meets the sides AB

and AC of AABC at D and E respectively. If

BC =901, BD 1 and AD =16, find the length D
B

of CE.

—REEE EEIE A 4x4 JiiEER  SINETFHRE 1 E 16 2 FIEE G
K 16 8T HEESMEBTHREFE S - Rk THAER | E 1658
B 5 WSSERRES - LRAEHS 4 fH=EaRms R E—TEIE 5 - 2410

EER g o E IR D RS BRI R % 'K at+d BIE -

A 4x4 table is printed on a game card. The participant has to fill in the numbers 1

to 16 into the 16 cells of the table such that there is exactly one number in each cell.

The master of the game will then randomly draws 5 lucky numbers from 1 to 16. If

4 of the lucky numbers lie in the same row or the same column, the participant can

win a prize. If the probability of winning a prize is % in lowest form, find the

valueof a+b.

MBS L 5 B/ ZETRYRE - wlE A —ORYRiEE
Bl - AR ZEFERRY OB/ NE - BRI — 2/ NEREE CiaRvg

LS BT S % ) R a+b HIfE -

In a Christmas party, 5 kids are geing to exchange presents. Each of them first
gives a present to the teacher, and then the teacher randomly distributes the
presents back to the kids. If the probability that exactly one kid gets back his own

present is g— in lowest form, find the value of a +5.
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(643)

(6 marks)

(653)

(6 marks)
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If positive integers m and n satisfy EX) <. o , find the smallest possible value

50 n 139

» 3R n BYBINATREE -

of n.

c A-EERENTINRE =MEBTHE LIRS - MIREREERE i

B, o B0 AR 38 =1444 - 4 38 B THFEL o FHEATE TIFBLL RNE
RIS - REHEE(EE -
If the last three digits of the square of a positive integer are the same and nonzero,

we say that the positive integer is ‘good’. For example, since 38° =1444, sc 38 is

‘good’. If we arrange all ‘good’ numbers in ascending order, what is the second

number?
99° +100° ©7°+99° 95° 408 P+5
~ + + _+.-.+--._—-——— N\ a
K P +100°  2°+99° 3408 50° +51° HIfE
3 3 3 3 3 3 3 43
Find the value of 99° +100° 97°+99 +95 +98 P +51

+ Feeet .
P+100° 2°+99°  3° 498 50° +51°

B xcy z REH Hit (x-15"+(y-20)" <49 T 10y =zx - K z AR
REMH
Let x, y, z be real numbers such that (x—15)° +{y—20)* <49 and 10y = zx. Find

the greatest possible value of z.
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